Spinning Process  :






Spinning requires input as sliver in cans from 3rd Drawing machine to produce thread in bobbins.
1.  This machine takes sliver from can and produces thread in bobbins.
2.  It takes single can sliver to produce thread in each bobbins set in each spindle.
3.  It gives the twist with stretch to sliver to make thread.
Standard Measure : 

Manning to department :

1.    Fine side 1 Sliver feeder/shift feeds sliver can to 10 machines. 
2.    Fine side 1Operator/shift attaches the sliver to process into 2 machines.  
3.    Fine side 1 Piecer/shift man to 4 machines.
4.    Fine side 1 Bobbin mazdur/shift to collect thread bobbins from 3 SD machines in normal count thread.
                                                        Or,
       Fine side 1 Bobbin mazdur/shift to collect thread bobbins from 2 SD machines in heavy count thread.

                                                        Or,

       Fine side 1 Bobbin mazdur/shift to collect thread bobbins from 4 AD machines in normal count thread.

5.    Sacking weft or coarse side includes 1 operator/shift for 1 machine.
6.    Sacking weft or coarse side includes 1 piecer/shift for 3 machines.

7.    Sacking weft or coarse side includes 1 sliver/shift feeder for 5 machines.

8.    Sacking weft or coarse side includes 1 bobbin mazdur/shift for 5 machines.

9.    On all sides include 1 reliever/shift for 11 mazdurs.

10.  On total department 4 sweepers/shift for 4 lines.
11.  On all sides include 1 can transporter /shift for 6 3rd Drawing machines.

12.  Fine side include 1 sardar/shift for 40 SD machines.
13.  Fine side include 1 sardar /shift for 32 AD machines.

14.  Coarse side include 1 sardar/shift for 24 SD machines.

15.  On all sides include 4 sirdar/shift for the whole department.

16.  1 list man.

17.  1 store man for general shift.  
18.  1 store man for general shift.     

19.  8 cleaner spinning waste under machine.

20.  2 picking man.

21.  2 bobbin cleaner.

Machine arrangement :

1.   Total 147 machines installed.

2.   Machine Chart :

	Side
	Pitch

Difference                (2 Spindles)
	SD/AD
	Spindle
	No. of  M/c

	
	41/4
	SLIP DRAFT
	100
	72

	
	41/4
	SLIP DRAFT
	110
	23

	
	41/4
	APPRON DRAFT
	100
	8

	
	41/4
	APPRON DRAFT
	110
	12

	
	51/2
	OLD MACKIE
	80
	12

	
	43/4
	APPRON DRAFT
	96
	1

	
	43/4
	SLIP DRAFT
	96
	19

	TOTAL
	147


Other Measures :
1.   14400 yards Silver = 180 kgs ( This is Count or Grist of Sliver.

2.   14400 yards Yarn/Thread = 7 - to - 32 lbs (  This is Count or Grist of Yarn.

3.   Fine side runs 7-18 lbs count of yarn and coarse side runs 20 lbs and above count of yarn.

4.   Draft =  

5.   Draft Pinion  =                                                              =    Output (+/- (1-3%)).


6.   


7.   

8.   

9.   Theoretical Production :

         
MACHINE MASTER                                                                                
	M/c Code
	M/c Name
	M/c Make
	Side
	Description
	Pitch
	Draft
	Spindle
	M/c No.
	Deptt.
	Line No.

	 0001
	SPINNING
	MACKICE
	Coarse
	XXX
	5.75
	
	80
	INDIA
	SPINN.
	3

	0002
	SPINNING
	XXXXXX
	Fine
	XXX
	4.25
	SD
	100
	
	SPINN.
	1


QUALITY WITH SPEED MASTER
	Batch Code
	Batch
	Speed
	Twist per Inch.
	Count (LBS)

	001
	HESS WP
	3200
	XXXXX
	8

	002
	SACK WT
	     2800
	XXXXX
	20


SPINNING DAILY PRODUCTION
	Date
	Shift
	M/c Code
	Side
	Batch Code
	No. of Frames
	Theory. Prodn.
	Target Prodn.
	Actual Prodn.
	TPI
	RPM
	QU AL ITY
	Nomi nal Count
	Act. Count

	
	
	
	
	
	
	Kgs
	Eff
	Kgs
	Eff
	Kgs
	Eff
	
	
	
	
	

	01/01/07
	A
	0001
	FS
	XXX
	
	
	
	
	
	
	
	
	
	
	
	

	02/03/07
	B
	0132
	CS
	XXX
	
	
	
	
	
	
	
	
	
	
	
	


Winding Process  :






Winding requires input as Thread Spindle from Spinning machine to produce thread in spools and cops.

Standard Measure : 

Machines installed to department :

1.    Warp Winding Freaser M/c

No. of M/c = 6

25/25 = 50 Spindles each side x 2 = 100 Spdls / M/c
2.    Warp Winding Mac. Roll M/c (Spool)
No. of M/c = 15

20 Spindles each side x 2 = 40 Spdls / M/c
3.    Weft Winding M/c (Cop)

No. of M/c = 32

60 Spindles each side x 2 = 120 Spdls / M/c

Other Measure :

1.    Each Spool contains 6.7 – 7 Kgs for Sacking.

2.    Each Spool contains 5 – 5.5 Kgs for Hessian and 6 Kgs for Hessian in Freaser Winder M/c.

3.    Approx.  80 Cops  = 20 Kgs   =  1 Bundle for Sacking.
4.    Approx.  30 Cops  = 20 Kgs   =  1 Bundle for Sacking.

5.    Approx.  Waste % in Yarn  =  .6 - .75 %.
6.    Approx.  Waste % in Moisture  =  2 - 3 % in Hessian.
7.    Approx.  Waste % in Moisture  =  3 - 4 % in Sacking.

Manning to department :

1.    Spool Winding M/c
(
2 Winder / Side / M/c
= 4 Winder / M/c.
2.    Cop Winding M/c
(
1 Winder runs 30 Spindles on Fine Side for Hessian  =  4 Man / M/c.
3.    Cop Winding M/c
(
1 Winder runs 20 Spindles on Coarse Side for Hessian  =  6 Man / M/c.

4.    Hessian Warp Spool Winder
(
150 Spindles / Man  from Spinning Frame.
5.    Sacking Warp Spool Winder
(
133 Spindles / Man  from Spinning Frame.

6.    Sacking Weft Cop Winder
(
80 Spindles / 2 Man  from Spinning Frame.

7.    Sacking Weft Cop Winder
(
96 Spindles / 3 Man  from Spinning Frame.

8.    1 Warp Sardar / Shift.
9.    1 Cop Sardar / Shift.

10.  2 Godown Mazdur / Shift.
11.  4 Dirty Bobbin Cleaner / Shift for A Shift.

12.  1 Sweeper / Shift ( 2 Sweeper for A Shift ).
13.  2 Dirty Bobbin Winders / Shift.

14.  1 Dirty Spool Coolie / Shift only in A Shift.
15.  3 Gari Coolie for Warp Winding  / Shift.

Twisting Process  :






Twisting is done to twist the thread more to strengthen it. It may require to make ply that is of two or more threads twisting together  to make it strengthy.  This done from spools from winding.
Standard Measure : 

Twisting is done in two modes i.e. automatic and manual.

Automatic :

1.    Automatic Twisting M/c  = 2 Nos.

2.    96 Spindles / M/c.

3.    2 Man / M/c
4.    1 Bobbin output = 3 Kgs approx.

Manual :

1.    Manual Twisting M/c  = 5 Nos.
2.    84 Spindles / M/c.

3.    2 Man / M/c

4.    1 Bobbin output = 3 Kgs approx.

Precision Winding Process  :

After twisting process both in automatic and manual process or from winding process, it may require to make in big spools with more weight in each.

Standard Measure : 

1.    Automatic Winding M/c  = 48 Nos.

2.    2 Spindles / M/c.

3.    4 M/c / Man.
4.    1 Spool output = 19 Kgs for Sacking and 18-18.5 Kgs for Hessian.
5.    Extra Hands are require for twisting to winding = 2 Gari Coolies / Shift and they are also the sweepers.
Reeling Process  :
After twisting process both in automatic and manual process or from winding process, it may require to make in bunch from reels with more weight in each.

Standard Measure : 

1.    Reeling M/c  = 2 Nos.

2.    2 Spindles / M/c.

3.    2 Man / M/c.
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R.P.M.        1                                    1                                                                                            


---------- X ---- X 60  X 8        X  ---------    X    COUNT    X  .4536   X    No. of  SPINDLES  = Actual  Prodn.  Kgs / Day                    


T.P.I.          36                               14400                                                                                


                                                                                                 Actual Prodn.


.4536 GRAMS = 1 POUND                     Now calculate       ------------------  X  100  = Actual  Efficiency %.


                                                                                                  Target Prodn 





R.P.M.        1                                         1                  COUNT                                                         75


---------- X ---- X 60  X 23.5        X  ---------    X    -------------    X     No. of  SPINDLES    X    -----   =  Kgs / Day  at 75 % Efficiency per Frame                  


T.P.I.          36                                    14400                  2.2                                                             100





R.P.M.        1


---------- X ---- X 60  X 23.5  =  Production in Yards / Day


T.P.I.          36  





R.P.M.


----------  = Delivered in Inches / Minute.


T.P.I.
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